



Nombre: _____

Fecha: _____ Puntuación: _____

$$(-4)^{(-1)} + 10 =$$

$$(-6)^{(-1)} + 4 =$$

$$(-9)^{(-2)} - (-10) =$$

$$(-7)^{(-2)} + (-6) =$$

$$3^2 + (-10) =$$

$$8^{(-1)} + (-8) =$$

$$9^{(-2)} + 10 =$$

$$6^{(-2)} + 3 =$$

$$8^2 + 5 =$$

$$4^{(-1)} - 5 =$$

$$3 - (-9) =$$

$$(-6)^2 - (-10) =$$

$$(-9)^2 + (-1) =$$

$$(-4)^2 + (-6) =$$

$$(-2)^2 + 7 =$$

$$(-9)^{(-2)} - 7 =$$

$$(-9)^0 - 5 =$$

$$(-8)^{(-1)} - (-7) =$$

$$(-6)^0 + (-10) =$$

$$(-9)^2 + 5 =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$(-4)^{(-1)} + 10 = \frac{39}{4} = 9\frac{3}{4}$$

$$(-6)^{(-1)} + 4 = \frac{23}{6} = 3\frac{5}{6}$$

$$(-9)^{(-2)} - (-10) = \frac{811}{81} = 10\frac{1}{81}$$

$$(-7)^{(-2)} + (-6) = \left(-\frac{293}{49}\right) = \left(-5\frac{48}{49}\right)$$

$$3^2 + (-10) = (-1)$$

$$8^{(-1)} + (-8) = \left(-\frac{63}{8}\right) = \left(-7\frac{7}{8}\right)$$

$$9^{(-2)} + 10 = \frac{811}{81} = 10\frac{1}{81}$$

$$6^{(-2)} + 3 = \frac{109}{36} = 3\frac{1}{36}$$

$$8^2 + 5 = 69$$

$$4^{(-1)} - 5 = \left(-\frac{19}{4}\right) = \left(-4\frac{3}{4}\right)$$

$$3 - (-9) = 12$$

$$(-6)^2 - (-10) = 46$$

$$(-9)^2 + (-1) = 80$$

$$(-4)^2 + (-6) = 10$$

$$(-2)^2 + 7 = 11$$

$$(-9)^{(-2)} - 7 = \left(-\frac{566}{81}\right) = \left(-6\frac{80}{81}\right)$$

$$(-9)^0 - 5 = (-4)$$

$$(-8)^{(-1)} - (-7) = \frac{55}{8} = 6\frac{7}{8}$$

$$(-6)^0 + (-10) = (-9)$$

$$(-9)^2 + 5 = 86$$